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A 1:

Fraffea aive! & UHEs S
(i) a*+8a+16 (i) p°—-10p+25
(iii) 25m* +30m+9 (iv)  49y° +84yz+36z2°
V) 4x* —8x+4 (vi) 121b* —88bc+16¢>

(vii) (I+m)’ —4lm [Ehd: Tgd ({+m)’ Bl TG Hforg|]
(viii) &' +24°p" +b°

£.3IW1:
(i) a’+8a+16=a’+(4+4)a+4x4

GEBIEED] x*+(a+b)x+ab=(x+a)(x+b) & UanT 4,
Tl x=a,a=4and b=4
a’*+8a+16 = (a-|~4)(ar+4)~:(a+4)2

(ii) p*—10p+25= p* +(-5-5) p+(-5)(-3)
g X’ +(a+b)x+ab=(x+a)(x+b) I WY,
g8l x=p.a=-5and b=-5
p*-10p+25=(p-5)(p-5)=(p-5)°

(i)  25m” +30m+9=(5m) +2x5mx3+(3)’
AGWPT a* + 2ab+b* =(a+.!;v)2 S YA Y, U8l a=5m.b=3
25m* +30m+9=(5m+3)’

(iv) 49y* +84yz +362* =(Ty)" +2x7yx6z+(6z)
TAGHBT o +2ab+b* =(a+b)” & VAR, &l a="Ty,b =62
49y* +84yz+36z =(7y+6z)l

V) 4x* —8x+4=(2x)" —2x2xx2+(2)’
TIGHDT o> —2ab +b* =(a—b)' F T, T&l a=2x,b=2
4x* —8x+4=(2x-2) =(2)" (x-1)" =4(x-1)’

(vi)  1216* —88bc+16¢* =(11b)" —2x11bx4dc+(4c)’
ST a* —2ab+b* =(a—b)’ & VARG, T&l a=11b,b=4c
121h* —88bc +16¢> = (11b—4c¢)’

(vii) (I4+m)' —4lm = > +2x1xm+m* — 4m [ (a+b)’ :a2+2ab+b1

= *4+2Im+m* —4lm
=1*=2lm+m’

= (1 —m)2 [ (a—b)2 =qa* —2ab+bz}
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(viii) &' +2a°p* +b" =(a'3)“+2><a2><b2 +(b2 )2

- (a-2 +b* )2 [ (cH«b)2 =a’ +2ab+b2}
A3 2:
UGS BT
(i) 4p* —94° (i)  63a*—112b
(iii) 49x° -36 (iv) 16x" —144x
v)  (l+m) =(I-m) (vi)  9x*y*-16
(vii) (x2 —2xy+ y?)—z2 (viii) 254 —4b* +28bc—49¢°
£.3W 2:
(i) 4p*-9¢* =(2p) —(3q)’
=(2p-3q)(2p+3q) [ az—bzz(a—b)(a-kb)]
(i) 63a’-1126° =7(9a>~165*) =7 (3a)’ ~(4b)’ |
= 7(3a—4b)(3a+4b) [ @~ =(a—b)(a+b)]
(i)  49x*-36 = (7x)" —(6)’
= (7x-6)(7x+6) [+ @’ —b* =(a-b)(a+b)]
(iv) 16x° —144x° :16x3(x2—9) =16 [( ) =(3) }
= 162 (x=3)(x+3) [ a (a—b)(a+D)]

(v) (l’+m)2 —(1 —m)2 = [(1 +m)+(!—m):|[ (1+ m)—(l—m)]
[ a—b = (a—b)(a+b)]
= (I+m+l—m)(l+m—l+n’t) = (2m)(21):4h??
(vi) 9x*y* —16= (3.1;\;)2 - (4)2

= (3xy—4)(3xy+4) [ a’—b’ :(a—b)(a+b)]
(vii) (x2 —2xy+ yz)—zz =(x-— y)2 -z [ (a—b)2 =g —2ab+bz}
= (x—y-z)(x—y+z) [ azwbzz(aHb)(aﬁwb)]

(viii) 254 —4b* +28bc—49c* =254° - (4b2 —28bc +49¢” )
= 250 -[ (2b)’ ~2x2bxTc+(7¢)’ |
= 254 —(2b-Tc)’ [+ (a=b)' =a’~2ab+1" |
= (Sa)2 —(2[»—76)2
= [5a—(2b-7c)][Sa+(2b-7c)] [ @’ —b =(a—b)(a+D)]
= (5a-2b+7c)(5a+2b-7c)
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A3 3:
fRafiied seid] & UFES HiforT:
(i) ax® +bx (i) 7p*+21qg°
(iii) 2x° +2xy" +2xz° (iv)  am’ +bm’+bn* +an’
(v) (Im+1)+m+1 i) y(y+z)+9(y+z)
(vii) 5y —20y—8z+2yz (viii) 10ab+4a+5b+2
(ix) 6xy—4y+6-9x
£IW3:
(i) ax” +bx = x(wmﬁb)
(if) 7p*+21q" = 7(p*+34°)
(iii) 2x° +2xy* +2xz° = 2.’('(_7(2 +y* + zz)
(iv) am’ +bm’ +bn’ +an® = m’ (a+b)+n’(a+b) = (a+b)(m2 +n2)
(v) (Im+1)+m+1=1(m+1)+1(m+1) = (m+1)({+1)

(vi) y(y+2)+9(y+z) = (y+z)(y+9)

(vii) 5y —20y—8z+2yz =5y —20y+2yz—8z = Sy(y—4)+2z(y—4)
= (y-4)(5y+22)

(viii)  10ab+4a+5b+2 = 2a(5b+2)+1(5b+2) = (5b+2)(2a+1)

(ix) 6xy—4y+6-9x = 6xy—9x—4y+6 = 3x(2y-3)-2(2y-3)
= (2y-3)(3x-2)

M3 4:
TUAEE DI
(i) a*-b* (i) p'-81
(iii) X —(y+ z)4 (iv) x'—(x- z)‘3
(v) a*-2a’b* +b*
g.3W4:

(i) a' -b'=(a*) -(p?)
(a2 —bz)(ﬂ2 +b2) [ a’—b’ —(a—b)(a+b)]
]

= (a-b)(a+b)(a* +b") [ @ —b*—(a—b)(a+b)

2

(i) P’ —81:([)3)2-(9)'

= ([f ~9)(p2+9) I: a’ Hbl—(a—b)(aer):I
- (=) +5)
=(p- 3)(p+3)(p‘+9) [ al—bl—(a—b)(a+b)]
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i) 2t =(y+2)'=() [(+2)]
= [xl~(y+z)1[x2+(y+z)1 [
= [x—(y+z )][x+(y+z):||:xz+(y+z)2j| [
= (x—y+z )(x+«3+z)[ (y«i»z)zJ
(iv) i —(x—z)ﬂl =(,\r2 )2 —[(x—z)zT
= |:r —(x~:)2][x2+(x—z)’} [
= [x-(e=2)][x+(xe2)] [ +(x=2)"] [
= (_r—x+z)(x+:(+7)(1 T —2xz+z [
= x(2x+z)(2x2—2xz+z )
v) a' -2a°0* +b" = (a*) —2a%* +(b*)
= (aszz)z |:
= [(a~b)(a+b)] [
= (a—b) (a+b)’ [
M3 5:
FrafRaa Tiee! & UGS HIfoTT;
(i) p+6p+8 (i) ¢*—10g+21
€.IW 5:
(i) p’+6p+8=p*+(4+2) p+4x2
= p’+4p+2p+4x2
= p(p+4)+2(p+4)
= (p+4)(p+2)
(ii) g’ —10g+21=q>—(7+3)g+7x3

=g —7g-3q+7x3
=4(4-7)-3(¢-7)
= (a-7)(¢-3)
p2+6p~l6=p2+(8—2)p—8x2
= p’+8p—2p—8x2
= p(p+8)-2(p+8)
=(p+8)(p-2)
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*—b*—(a—b)(a+b)]

a’—b*—(a-b)(a +~b)]

2

a’ -b*—(a- b)(cH—b)]
a’—b*—(a- b)(a+b)]
(a=b)' =a*—2ab+b’ ]

(a-b)' =a* ~2ab+b" |
a’ —bl—(a—b)(cH-b)]
(xy)"' — xm.ym:|

(iii) p°+6p-16



